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Question paper for recruitment of Forest Assistant Beat Officer / Thanadar / Plantation watcher /
Bungalow watcher

F8Y 0DPod HE 0050 / o o6 / oSS aresh / Dol risbe dobé & vF) D

Subject: General Mathematics - Time: 1 hour 30 minutes

K)?ggo ;220065 wam&éa . Ra0CBw : 1 doty 30 Dadwdoen .
Total Marks: 100 Date of Examinati.on:

Aoogdw Brage : 100 &

Instructions / Zoecdeden ;

1. Answer all questions.

e:a;')g_ D) 02 DA Frofuaw

2. Answers are to be marked nn the OMR sheet supplied. Evary question is provided with four
answers. Only one of these aniswers is correct. Correct answer is to be marked in one of the circles (A
or B or Cor D) by tilling the circle with black ball point pen.

Dareramwen CMR D3 & wiose ) . Ha 27) D TROrH DArE AL BILAESD . DES g,
POPEEIDD BrGD DO WG L DS D DAPEIAWIH (A/B/C/ D) S Jeodur &y Wy & dy wrd
ool DS & Lyrdosed .

3. The OMR sheet should not be folded or crushed.

OMR Dgande Hues éﬁ%‘o Fg 290 Dow 6.

4. Question numbers 1 to 20 carry one mark each and guestion numbers 21 to 45 carry two marks
each. Question numbers 46 to 55 carry threc marks each.

1 od 20 908 o Gay o, 9O 28)© 1 aray . 21 ed 45 565 o D 00 DI PHO 2 ardnes

46 008 55 20 ffo Pk 08 F) © 3 AraEen.

5. No negative marking for the wronz answers.
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Sy DIAPPID0 0D Drd e dfoc 2t

6. Cell phones / calculators and slide rules are not permitted in to the examination hall.

06T Den S8 1S P, 59908506 o (Calculators }280m0 DA dren wRIRBOS B |

7. Please do not write anything (name or hall ticket number) on the question paper

. Two blank

sheets are added at the end of the question paper. These sheets can be used for doing rough work.

No additional sheets for rough work will be given,

D7) DGO p I Zrab DGO, DT LGN VDG’ Tocd By SABIVLD Socd AEID. 65 BE) &

S0GR00 P 308 By . 65 56, Es wEssr By SABADD @DY LD

8. Make sure that you fill the details like name, hall ticket number, category etc. before you start

answering the question paper on the OMR sheet,

OF°) DBDVND VATEIDVLD T S0y, OMR D0 D, T*HES Bowb Dodatn was

QDO T80 Sod.

P -
1. Which shows 833,000 written in scientific notation?
833,000 61 808 0 5° 5L HAFHA0 ?
A 8.33x10° B 8.33x10° C  8.33x10° D
2. What is the length of YZ?

& 80d DM S YZI &y does ?

A

Ll

A 9cm B 15cm C 19cm D 25cm

3. Which of the following is equivalent to 5/2?

5/2 B8 BAFBE 7

[

o

2:5 ™ 5.2 D 5.2

b=
N~
N
i
w
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4. Anunbiased die is thrown. What is the probability of getting a multiple of 3.

ERB0L VIPIID T &) 28 FOE (die) 20 D8I, 38 erfod aF SLES "‘3& Do8HDHS dod

?

A 1/3 B » Cc 2/3 D 1/4
5. Which of the following has the same value as 5° x57?

55X 57 & BobTd S BIE HBTdR0 ?

A 5" B 5° ¢ g D 5
6. Find fraction F in the equation 2/8 + F= 1

2/8+F=1¢" FDend doeh ?

A. 3/4 B. 2/8 oF 1/8 D. 8/8

7. The length of a room is 5.048%10% cm. Which number is equivalent to this length?

2 116 Teisy) 5.048 X10% 2ot Dot D, 96 & §od 70 & B VRAFHAD ?

A 0.005048 cm B 0.05048 cm (@ ] 504.8 cm D 504,800 cm

8. Roberto paid Rs. 43.08 for 3 CDs. All 3 CDs were the same price. How much did each CD cost?
GOF , 2007¢0 CD wh 43.08 Srdroden 3PoBid. D) CD o 8 D000 9d w8 CD 2%
Jods ?

A Rs. 11.36 B Rs. 14.36 & Rs. 40.08 D Rs. 46.08

9. What is the volume of the rectangular solid shown below?

&S00 DLW S HY BHEY 570 & D) BN ALK, LD VOBFHE Jodh ?

1{

s

1

!
2

o

A. 10 cubicinches B. 25 cubicinches C. 2D cubicinches D. 16Bcubicinches
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10. How many millimetres are in 20 centimetres?

20 2080006 © ° @by 28 Doy Ay ?

A.0.02 millimetres B 0.2 millimetres C. 200 millimetres D. 20,000 millimetres

11. What value of x satisfies the equation 4 x+2=227

Ax+2=22 X Dend doch ?

A. 3.5 B. 5.0 c 6.0. . D 7.5

12. What is the value of x if - 3 x + 2=-77?

“3X+2=-7 X Dend doek ?

A x=-6 B. x=-3 C 7 x=3 D. x=6

13. Which operation will change the valve of any nonzero number?

A. adding zero B. multiplying by zero C. multiplying by one D. dividing by one

T B Dowy &0, 6 Sod T S D6 By B008 ?
A R0Tm) B SODOAD soS B. 20 & rordo wevsn SiSed

C g & rHdosesn oo D. 2,88 & erfocdedian oo

14, lfx:4andy=3,thenxy—2x=?
X=4m©oiDY=3Faé,xy—2xbw&5Qoe§?

A 4 B. 6 C. 19 D. 40
15. Which fractionis to 16%?

éeio@@“bdﬁbeﬁé‘lmm%ébmém?

A 16/25 B. 4/25 L. 16/25 D. 16/16

16. Which expression below has the same value as x* ?

81800 TS DA ¥ O vArEsM ?

A. 3x B. X+ 3 C 7 x*x*y D. 3x* 3x* 3%

17. A caris travelling at a speed of 72 kifometres an hour. What is the distance (in metres) the car
can travel in one minute?
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w8 50 Aoy 72 86° g Dridw & DR, & TW 28 BRI & Ay Wb ErEAw

Ib%w)&)o& ?

A. 200 B.720 C. 1000 : . D. 1200

18. (a® +3ab® + 3a’h + b* =i

A (a+b) B.(a-h)? C.la+b)® D.(a-b)®

19. Convert Roman number XXXIV into natural number.

B0 Dogy XXXIV & iwe Doy T grodod

(a) 30 (b) 34 (c) 44 (d) 50
20. 1f 0.9 is divided by 0.03, the answer is:

0.9 % 0.03 & erfodd 55y Dewd Jog ?

(a) 30 (b) 0.03 (c) 3 (d) 0.3
21. The multiplication of a number {n) and 16 is 96. Which equation shows this relationship?

2.8 Dog (n) 3318 & AHr3odd aﬁésb Q085 96 RD, & 200 oD & D DG B DG ?

A. 16+n=96 B. 16*n=96 C.16-n=96 D.16+n=96

22. A bag contains 4 red, 5 black and 6 white balls. A ball is drawn from the bag at random. Find the
probability that the ball drawn is not black.

w8 00D S ¢ AR, 5 HLOT , 6 BLOLY) VOB VD), &2 Vo) oG ozbééaﬁ*’ 208 203 SDJ , o3
208 B TG GoctrdE Dorradabe o ?
A. 1/3 B. 1/3 C.2/3 B

23. Natasha is buying a CD that is regularly Rs. 13/- and is on sale for % off. Which expression can
she use to estimate the discount on the CD?

28%, 13 ErIraben PO Bb 28 (D F9Y0 . &5 CD P V4 Hodo Trawd S0 . & §ob o0 & ©

oraHA 8 BTFD HAECHo DG ?

A. 0.0025x Rs. 13 B.0.04 xRs. 13 C. 0.25%Rs. 13 D. 0.40xRs. 13

24. Which fraction is the same as 3.08?"

81800 T30 ¢5° D 1Y A0 3.08 S BHPBHD ?
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A 56/26 B. 77/25 C: 19/5 B 32/5

25. An infant sweater originally cost Rs. 27.50. Last week, Monisha bought it at 20% off. How much
was deducted from the original price?

8 WS D w8 3750 drdaben . £ 20% TPOID S0, TS JOD WHeL BB o

SHdd ?

A. Rs. 7.50 B. Rs. 17.50 Cs Rs. 20.00 D. Rs. 30.00
26. The percentage discount at a store is determined using the table below.

Sale Discounts:

Total purchases J Discount
| Less than Rs.50/- 25%
Rs. 50 to 100 30% |
Over Rs.100 [ 35% |

Sharmila bought 3 skirts that cost Rs. 25 each before the discount. What was her total cost after the
discount?

28 05PN &5 2629 Eofen 20 28, oD & Sob DA I Gotwod

20080 E0f e TS TPBAD

|
i
i
i

50 drarabe STy Sy 25%

50 A0od 100 ErPALHL HELH 20%

'Too grarabo g7y DD 35%

o ]
AU 3 T 0, 0.8) 88 25 crdrabo Ty Eoffen 305 rand ddvors | et by
Dogh 7
A. Rs.45.00 B. Rs. 48.75 C. Rs.52.50 D .Rs.56.25

27. Tamanna works in a shoe store and is paid a 12% commission on her sales. In February, her sales
total was Rs. 3750. How much did Tamanna earn in commission for February?

BT 28 S0 USRI & DD B00d. TR 2893 VD EO0 P 12% LV BI VDo

008 . DPP0 ArvaL & BT arso drarahe B EL00 20D, BID VDo SHRD Do ?

A. Rs. 312 B. Rs. 450 C. Rs. 3291 .. D. Rs. 4189
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28. Find the volume of a cube whose side is 9 cm

&8 209000 g, Er2Ew 9 o3 LW DD , 7D Do HOJTEAL Jod

A 18 cm? B. 27cm’ C. 8lcm? D. 729 cm’

29. Evaluate 8x + 7 given that x - 3 = 10.

X-3+410 @ (8X + 7) Dewsd dods ?

A 87 B.94 C. 104 D. 111

30. Find the measure of x in the followi

o
125

A 100° B 110° @ 325° D 130°

31. In a group of 120 peoplé, 90 have an age of more than 30 years, and the others have an age of
less than 20 years. If a person is selected at random from this group, what is the probability the
person's age is less than 20?

S00gdw 6@&‘:{1 120 008 &5°, 90 S0od JcHB0 30 K:oaﬁaéh\ldb:o 3} és"g‘ Qéogjcb. QABD o8 Doy, 20
SEERACESSUES Y DD, I ED S0 T 28 ;35@ R Do 305, 3D SaHoy 20 [SEIIEINCEIS

£ B0 B T G0l DoBBAADS ot ?

A.0.25 B.0.50 C.0.75 D.1.0

32. Find the volume (in cubic centimetres) of a cylindrical container with radius 5 cm and a height of
35cm.

5 ot QY TYTGA0 SO 35 Doed DOG I ED) @ YPFTOR) SY Dod HOAFHAL
(220055 208) g &5 ) Joes ?
A. 785 B.31.4 C.275 D. 2750

33. A pocket calculator which is priced Rs. 200 is on sale for 40% off., What is the sale price of the
calculator if additional 10% is reduced on the raduced price ?
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200 ErJ o0 Dewd S5 2.8 S BDITE 40% Trond & 22300 S0 DL Gotd DAJE . ToDA 6 B

RIEHE00 TP 10% Trasod BN, FR0Few 56 Jood ?

A 80 B 100 C 108 D 120

34. Find out the median of these numbers:

& Socs BEDD o © “OGEDS” D87

3,13,7,5,21,23,39, 23,40, 23, 14, 12, 56, 23, 29
A 14 B. 23 C. 40 D.56

35. Acircular garden with a radius of 10 meters is surrounded by a walkway of width 1 meter. Find
the area of the walkway in square metres,

10 o i g & ey s oo W 1 b Detery & 8 arerdd QoD , 23 578 erty D 7

0500 ( 56563 Dotat & ) Joes ?

A 22 B. 44 C.55 D56

36. The atmosphere normally exerts a pressure of about 15 pounds per square inch on surfaces at
sea level. About how much-pressure does the atmosphere exert on a surface of 30 square inches in
area? ?

RANEG OB B , TT DO DEDHL BEER) oHTE T 15 Do @Y, 30 BB WorLWHLY

DREB0 P G0l TB DG DEDAD Do ?

A 2 pounds B 15 pounds C 45 pounds D 450 pounds

37. Mrs. Naidu needs to purchase enough grass seeds to cover a 3000-square-yards lawn and a 4200-
square-yard lawn. If 40 kgs of grass seed will seed a 2400-square-yard lawn, how many kgs does she
need to seed both lawns?

30O T AL 3000 BEGRY ARIVLL LBAHY 4200 BEGY (VO DRI & 64 DY
BYDVD 8508, 2400 BHEOLY FeB0L IRYFLNS’ SOLD 40§ & © (& DGDHW IOV &), & Boch

RoB0LE" SwHH IM Td o (16 DY/BD TPHOD Got0d ?

A 20 B 30 c 120 piEE

38. Harsha's car gets an average of 75 kilometres for every 5 litres of gas. He plans to drive 210
kilometres today 2nd 240 kilometras tomorrow. How many litres of gas should he expect to use in
all?
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g5 s Bog pF e & 75 85 Dowg Grosw DeyBoed . g, & Fe 210 868° ot Hodotw B

240 2¢5° Dotach oI Docs HOD &), WHHE Bord Ddw DEW Ay Beog> ?

A 25 B 28 C 30 D 45

39. A cube has a total surface area equal to 150 square feet. What is the volume of the cube in cubic
feet?

208 D030 8], GHO B DFTULDN 150 BEERD WD | 83 DOJTD DN DOIATHOW DSNREIT))

eaciarioen ?

A.25 B.125 C. 150 D.300
40. Find the height “h” of the trapezoid so that its area is equal to 400 square cm.

& $06 BrDD Shaoie CIE) :Ji;gm 400 BHESED Dot Deah . D I “h” Jok ?

12 cm

27 cm

wwweanalyzemath.com

A. 10cms B. 15 cms C.20cms D. 25 cms
41. Find the width “w” of the parallelogram so that its area is equal to 600 square feet.
Ge S00 WIPDD Do ossd deéocfda&m (ﬁméb f{)?ggm 600 SGEEY) e . Z‘;czwb w Dbb\u

eacHre ?

—+
Rl

C.25ft D.30ft

[
(e
-

A, 15 ft B.
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42, Find x if trisngle ABCis a right triangle.

Sz ABCoo E'e Bz @, X Dens dods ?

www.analyzemath.com

A 92° B.102° ol 5 5 B:122°

43. Find all the unknown sides x, y, z and w if all three triangles are similar.

& 05 BP0 Geedne wd 0S50 @D @I, X, V. Z 000 Wb Jodd ?

12

wiww.anabzemath.com
A. x=9,y=51,z=144,w=36 B. x=9,y=51,z=36,w=144
C. x=51,y=9,z=144,w=36 D. x=9,y=144,2=51,w=36

44. The side of cube A is 3 times the side of cube B. The volume of cube A is 3,375 cubic feet. Find
the volume of cube B.

A. 125 cft B. 250 cft C. 500 cft D. 1000 cft

45. The length of rectangle Ais 24 cm and the length of rectangle B is 96 cm. The two rectangles are
similar. Find the ratio of the area of A to the area of B
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BG e 8w AT E 24 Dotd Doty . @of's 6g 380 690 B o) T 26 Dotd ot . &
B0ty &¢ S TRy 2 e DS SO0 DD @D, & Bocd Y SEO GHB/VY DYG VG der

oo ?

A 1:4 B. 1:8 C. 1:12 . D.1:1e
46. ABCis anisosceles triangle. Find the angle B and angle Cin the triangle.

e ABCE 050 BT Jeneow . ¢ Gabadn & Fean B C Jod ?

8
10
L 72°
A
A 10 C
www.analyzemath.com
A. 27 degrees B. 54 degrees C. 72 degrees D. 104 degrees

47. The perimeter of an equilateral triangle is equal to 210 ¢cm. What is the length of one side of this
triangle? y

208 DD Frdnen do Gebadn (BB 2rH0 Joaaw ) gy, dotd Sod 210 Doth Do . e
Gy dedn Bwe), T Jod ?
A. 21 cms B. 70 cms C. S0 cms D.105 cms

48. Aroom measures 60 m x 40 x 30 m in its dimension, How many cuboidal boxes can be stored in
itif the volume of une box is 0.8 m®,

28 050 aBess), Sode so X 40 X a0 ibéag_) L s S os FCLINIE)) b}éog 20D DOAFERDEN GO L0STND
85600 & &0 DG A ot Dy ?

A 50,000 B 70,000 C 80,000 D 90,000

49. In a temple there are 25 cylindrical pillars. The radius of each pillar is 28 cm and height 4 m. Find
the total cost of painting (in rupees) the curved surface area of pillars at the rate of Rs 8 per m2,
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w8 AT P 205 & &) Poasdnd w25, ¢ YoBIN Y g G 28 Dot Doy BBOIL o
4 D000 . 8 RoBaN VL Borl Do BEGK) WD & & ErIaLLD BD, 88 QoS w v VS

Gorl DOINLES Y doraraien Py VDB0H ?

A 1500 B 1497 C 1699 D 1408
50. Find x so that the triangle shown below is a right triangle.

S065 trHDd Qraan o 8 9gea) @, X Dend Jdodd ?

12x

16
wyww.analyzemath.com

A. 025 B.0.50 C.0.75 D.1.0

51. Amit can do a piece of work in 4days and Sumit can do the same work in & days. How long will
they take, if both Arit and Sumit work together?

S 2,8 HID 4 Bevw & B0 SoH d0 . 0B HID WG ¢ Ferod” Jab Ao . & BIY, 8
208050 NG g 30D, 2y Berees’ {rd Sob Ko ?

A 1% B 2% C 3% D 3%

52. 15 boys earr Rs. 900 in 5 days. How much will 20 boys earnin 7 days?

05 B006 erendd , 5 Sweds 200 drdvabey odrded (UM . 20 Hod wre® 7 Fwed’ Jod

DoPH o (1Rtd?

A 1880 B 1620 C 1780 D 1680

53. Rani's weight is 25% that of Meena’s and 40% that of Tara’s. What percentage of Tara’s weight is
Meena's weight?

=3 o
orei b Some axthiy S° 25% H08010 THE B 6 40%. T°6 ML WP OD) S Jod FTBDwW?

A 80 5 120 C 160 D 180
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54. Shreya is buying a pair of jeans that regularly costs Rs. 40, They are on sale for 20% off. If the tax
rate is 8%, what is the sale price of the jeans including tax?

O, 40 draraben Jeud B &S wd &y Fotwod . 08, 8 P 20% Trowd God . & PO 2 8%

DAY €Y 080, JoH BYold 2w DB doh ?

ARs. 21.60 B Rs. 34.56 CRs.42.34 DRs. 44,16
55. Inthe following figure, find x+y+z

& 3005 BB B S Xe Ve 2 Jodh 7

A 120° \/
q [}
B 130° 2
¢ 3600
Z/’ 28
D 145° . —
< ‘>","
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